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'3 Ty o I3y
He worked four years and — 121@ 352 5090 79 250 090 799wy '7 72
two remain, he should give him two, according to his years

Overview

The xmx asked; why should we say that 21wa n127 oX means’ the 72y became
worth more and 2°1w2 vy» means the 72v became worth less; let us say that vyn
0122 means that since he already worked four years so two years remain, therefore
the 72v has to pay for the remaining two years 1w *03.> There is a dispute between
*"w9 and MBOIN as to how to explain the s'&773 question.

- 59>05na XYY NYAYNA XY XD 99N XY *09029P2 w999
>'"'w9 explained that the question is that we should assume that the o2 is not
discussing either a case where the value of 72¥ improved, nor a case where the
value of the 72y declined.

MooIn asks on >"wA:
=923V 292 IN INIPN G0N YTIN) YTON 2INI) YWY NP 2V INNIN 12 ONT YD)

And there is a difficulty with this explanation, for if indeed it is so that the value
of the 72y did not change, why does the ?92 change its syntax, it should write

by both places either 1nipn nE2», or MW 5535 why by o°1wa nan does it states 707
1n1Pn (indicating that we follow the purchase price) and by 2°1w2 vy it states 1" *93 (indicating
[perhaps] that we follow his current value).

mooIn offers his interpretation:
= Y9N 9D 1Y) NN TaYT DIV M9 NHY DN IVIT 3517 7192 13929 290 9IINY

And T2 "' stated that this is the explanation; if there is still 2%wa nyan

meaning that he worked two years and there remain four years to work, then the 72v -
- °nvawn 1931 99051 193 10PN UM YAIN 1YY BNY

' This MmooIn references the X3 on the following 'a Tmy.

* The 2°p109 in 23-X3,72 (772) Xp™ read, 9277 NIY 7Y D@2 WY Lyn DX .iNpn 9927 NN 200 00 2w nian Ty ox
INDINRA R 200 LY 093 17 awm).

3 p°3wa Man 7w ox) means the opposite that he worked only two years and four years remain, so the 72 has to pay
for four years.

4 2711772 (on the '2 TY).

> According to ('on understanding of) >"@", the 09 is merely stating that if there are many years (four) left, he pays
for the many years, and if there are few years (two) left, he pays for those two years. We are not discussing a case
where the value of the 72y increased or decreased.

® Let us assume that the master bought the 72v for nine hundred o1 for six years of work, which turns out to be one
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Should give the master the value of four years of work, based on 1nip» nos» (the
price the master paid for buying him) whether the value of the slave decreased

or whether it increased; it makes no difference, in all cases the 72y must pay based on the

buying price, the reason why he must use the buying price is -
= NN 131 99V DD ITY TIND NNV DIVN

Because now after only two years of work, the 72y is closer to the time he

entered into slavery, more than he is close to the time of leaving slavery, therefore

we base his redemption price on the purchase price which is the 79°10 17 -
- 7ny MY RINY PIY 295 195 2509 5NN WO YAIN Ta¥T DIV INYI DY ON)

But if 25122 98w vy» meaning that he already worked four years and only two
years remain, the 72y should give the master 1w %2> meaning how much he is

worth now (for the next two years) -
$H%AWN 1) 50N 12 NP P TN NI

Since after four years of work the 72y is close to the time of leaving his slavery.
This should apply whether his value decreased or whether it increased.

Summary
According to >"w1 the question was; let us say the 2109 is not discussing a case of

mawn or 7°0377. However, M50 maintains that the question is that regardless
whether 7°0277 or m°2w:, the 72v should pay a price depending on whether his term
now is closest to the 710°1> (which 1s 1nIpn Ao027) or ARX> (which 1s 171w °9D).

Thinking it over
1. What would be the ruling if he wants to redeem himself after the two years, but

before four years?®

2. Which of the two scenarios mentioned in N901N is more logical; 1NPn 7ON
(after two years) or 171w *53 (after four years)?

hundred fifty 0’111 per year. After two years, if the 72y want to redeem himself, he must pay the master six hundred
o217 (for the four remaining years) regardless whether the 72¥ is now worth one hundred o°17 per year (or four
hundred o°nr for the four years) or whether he is worth two hundred o°17 per year (or eight hundred o111 for the four
years); he always pays 1n1p»n 7021 or six hundred 217 at the valuation at the time of purchase.

7 The 72y is now (with two years remaining) worth one hundred fifty o per year, his redemption fee is three
hundred o°17, regardless whether at the purchase he was worth two hundred o171 per year (the owner paid eight
hundred 2°17) or he was worth one hundred o171 (the owner paid six hundred 2°17); the 72¥ pays his current market
value.

¥ See X" and Topn MR 7T ONY N
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